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Loops & Decisions 
Part 1 

---------------------------- 
 
 
W e l c om e  to th e  fifth  l e sson  in  m y  c ou r se  a b ou t M Q L 4 . 
 
Y ou  c a n  d ow n l oa d  th e  p r e v iou s l e sson  fr om  h e r e : 
h ttp :/ / for e x -tsd .c om / a tta c h m e n t.p h p ? a tta c h m e n tid =3 9 9  
h ttp :/ / for e x -tsd .c om / a tta c h m e n t.p h p ? a tta c h m e n tid =3 7 2  
h ttp :/ / for e x -tsd .c om / a tta c h m e n t.p h p ? a tta c h m e n tid =4 6 9  
h ttp :/ / for e x -tsd .c om / a tta c h m e n t.p h p ? a tta c h m e n tid =4 8 1 
Don’t forget to login first. 
 
 
 
Th e  n or m a l  fl ow  c on tr ol  of th e  p r og r a m  y ou  w r ite  in  M Q L 4  ( A n d  in  oth e r s l a n g u a g e s a s 
w e l l ) e x e c u te s fr om  top  to b ottom , A  sta te m e n t b y  a  sta te m e n t. 
 
A  sta tem ent is a  line of c od e telling th e c om p u ter to d o som eth ing. 
F or ex a m p le:  
Print("Hello World"); 
retu rn 0 ; 
A  sem ic olon a t end  of th e sta tem ent is a  c ru c ia l p a rt of th e sy nta x  b u t u su a lly  ea sy  to forget,  
a nd  th a t' s m a k e it th e sou rc e of 9 0 %  of errors. 
 
B u t th e  top  b ottom  e x e c u tion  is n ot th e  on l y  c a se  a n d  it h a s tw o e x c e p tion s, 
Th e y  a r e  th e  l oop s a n d  th e  d e c ision s. 
 
Th e  p r og r a m s y ou  w r ite  l ik e  -th e  h u m a n - d e c id e s w h a t to d o in  r e sp on se  of c ir c u m sta n c e s 
c h a n g in g . I n  th e se  c a se s th e  fl ow  of c on tr ol  j u m p s fr om  on e  p a r t of th e  p r og r a m  to a n oth e r . 
Sta te m e n ts c a u se  su c h  j u m p s is c a l l e d  Con tr ol  Sta te m e n ts. 
Su c h  c on tr ol s c on sist of L oop s a n d  D e c ision s. 
 
 

 
 



LOOPS 
----------------- 

 
L oop s c a u sin g  a  se c tion  of y ou r  p r og r a m  to b e  r e p e a te d  a  c e r ta in  n u m b e r  of tim e s.  
A n d  th is r e p e tition  c on tin u e s w h il e  som e  c on d ition  is tr u e  a n d  e n d s w h e n  it b e c om e s fa l se . 
W h e n  th e  l oop  e n d  it p a sse s th e  c on tr ol  to n e x t sta te m e n t fol l ow  th e  l oop  se c tion . 
 
I n  M Q L 4  th e r e  a r e  tw o k in d s of l oop s: 
 
 
 
T h e  f o r  Lo o p  
-------------------------- 

 
Th e  fo r  l oop  c on sid e r e d  th e  e a sie st l oop  b e c a u se  a l l  of its c on tr ol  e l e m e n ts a r e  g a th e r e d  in  
on e  p l a c e . 
Th e  fo r  l oop  e x e c u te s a  se c tion  of c od e  a  fix e d  n u m b e r  of tim e s. 
 
F or  e x a m p l e : 
 
in t j ; 
for ( j =0 ; j < 15 ; j + + ) 
 P r in t( j ); 
 
H o w  d o e s  t h is  w o r k ?  
 
Th e  fo r  sta te m e n t c on sists of fo r  k e y w or d , fol l ow e d  b y  p a r e n th e se s th a t c on ta in  th r e e  
e x p r e ssion s se p a r a te d  b y  se m ic ol on s: 
 
fo r ( j= 0 ;  j< 15 ;  j+ + )  
 
Th e se  th r e e  e x p r e ssion s a r e  th e  in it ia l iz a t io n  e x p r e ssion , th e  t e s t  e x p r e ssion  a n d  th e  
in c r e m e n t  e x p r e ssion : 
 
j= 0   � in itia l iz a tion  e x p r e ssion  
j< 15  � te st e x p r e ssion  
J + +  � in c r e m e n t e x p r e ssion  
 
Th e  b o d y  of th e  l oop  is th e  c od e  to b e  e x e c u te d  th e  fix e d  n u m b e r  of th e  l oop : 
 
P r in t ( j) ;  
 
T h is ex ec u tes th e b od y  of th e loop  in ou r ex a m p le for 1 5  tim es. 
 
N o t e : th e  fo r  sta te m e n t in  n ot fol l ow e d  b y  a  se m ic ol on . Th a t' s b e c a u se  th e  fo r  sta te m e n t 



a n d  th e  l oop  b od y  a r e  tog e th e r  c on sid e r e d  to b e  a  p r og r a m  sta te m e n t. 
 
Th e  i n i t i a l i z a t i o n  e x p r e s s i o n :  
 
Th e  in itia l iz a tion  e x p r e ssion  is e x e c u te d  on l y  on c e , w h e n  th e  l oop  fir st sta r ts. A n d  its 
p u r p ose  to g iv e  th e  l oop  v a r ia b l e  a n  in itia l  v a l u e  ( 0  in  ou r  e x a m p l e ). 
 
Y ou  c a n  d e c l a r e  th e  l oop  v a r ia b l e  ou tsid e  ( b e for e ) th e  l oop  l ik e  ou r  e x a m p l e : 
 
in t  j;  
 
O r  y ou  c a n  m a k e  th e  d e c l a r a tion  in sid e  th e  l oop  p a r e n th e se s l ik e  th is: 
 
fo r ( in t  j= 0 ;  j< 15 ;  j+ + )  
 
 
Th e  p r e v iou s tw o l in e s of c od e  a r e  e q u a l , e x c e p t th e  S c o p e  of e a c h  v a r ia b l e  ( y ou  w il l  k n ow  
m or e  a b ou t th e  v a r ia b l e  d e c l a r a tion  a n d  sc op e s in  th e  V a r ia b l e s l e sson ). 
Th e  ou tsid e  d e c l a r a tion  m e th od  m a k e s e v e r y  l in e  in  th e  c od e  b l oc k  to k n ow  a b ou t th e  
v a r ia b l e , w h il e  th e  in sid e  d e c l a r a tion  m a k e s on l y  th e  fo r  l oop  to k n ow  a b ou t th e  v a r ia b l e . 
 
Y ou  c a n  u se  m or e  th a t on e  in itia l iz a tion  e x p r e ssion  in  fo r  l oop  b y  se p a r a tin g  th e m  w ith  
c om m a  ( ,) l ik e  th is: 
 
in t i; 
in t j ; 
for ( i=0  ,j =0 ;i< 15 ;i+ + ) 
   P r in t( i); 
 
 
Th e  Te s t  e x p r e s s i o n :  
 
Th e  te st e x p r e ssion  a l w a y s a  r e l a tion a l  e x p r e ssion  th a t u se s r e l a tion a l  op e r a tor s ( p l e a se  
r e fe r  to r e l a tion a l  op e r a tor s in  th e  p r e v iou s l e sson ). 
 
I t e v a l u a te d  b y  th e  l oop  e v e r y  tim e  th e  l oop  e x e c u te d  to d e te r m in e  if th e  l oop  w il l  c on tin u e  
or  w il l  stop . I t w il l  c on tin u e  if th e  r e su l t of th e  e x p r e ssion  is tr u e  a n d  w il l  stop  if it fa l se .  
 
I n  ou r  e x a m p l e  th e  b o d y  l oop  w il l  c on tin u e  p r in tin g  i ( P r in t ( i) ) w h il e  th e  c a se  j< 15  is tr u e . 
F or  e x a m p l e  th e  j  = 0 ,1,2 ,3 ,4 ,5 ,6 ,7 ,8 ,9 ,10 ,11,12 ,13  a n d  14 . 
A n d  w h e n  j r e a c h e s 15  th e  l oop  w il l  stop s a n d  th e  c on tr ol  p a sse s to th e  sta te m e n t fol l ow in g  
th e  l oop . 
 
 
Th e  I n c r e m e n t  e x p r e s s i o n :  



 
Th e  in c r e m e n t e x p r e ssion  c h a n g e s th e  v a l u e  of th e  l oop  v a r ia b l e  ( j in  ou r  e x a m p l e ) b y  
in c r e a se  it v a l u e  b y  1. 
I t e x e c u te d  a s th e  l a st ste p  in  th e  l oop  ste p s, a fte r  in itia l iz in g  th e  l oop  v a r ia b l e , te stin g  th e  
te st e x p r e ssion  a n d  e x e c u tin g  th e  b od y  of th e  l oop . 
 
F ig u r e  1 sh ow s a  fl ow  c h a r t of th e  fo r  l oop . 

  
F ig u r e  1 - F l o w  c h a r t  o f t h e  fo r  l o o p  

 
 

L ik e  th e  in itia l iz a tion  e x p r e ssion , in  th e  in c r e m e n t e x p r e ssion  y ou  c a n  u se  m or e  th a n  on e  
in c r e m e n t e x p r e ssion  in  th e  fo r  l oop  b y  se p a r a tin g  th e m  w ith  c om m a  ( ,) l ik e  th is: 
 
in t i; 
in t j ; 
for ( i=0  ,j =0 ;i< 15 ,i< ;i+ + ,j + + ) 
   P r in t( i); 
 
B u t y ou  c a n  on l y  u se  on e  te st e x p r e ssion . 

I n it ia l iz a t io n  
e x p r e s s io n  

T e s t  
e x p r e s s io n  
 

E x it  

B o d y  o f l o o p  

I n c r e m e n t  
e x p r e s s io n  

F a l s e  



 
A n oth e r  n otic e  a b ou t th e  in c r e m e n t e x p r e ssion , it’ s n ot on l y  c a n  in c r e a se  th e  v a r ia b l e  of th e  
l oop , b u t it c a n  p e r for m  a n d  op e r a tion  it l ik e  for  e x a m p l e  d e c r e m e n ts th e  l oop  v a r ia b l e  l ik e  
th is: 
 
in t i; 
for ( i=15 ;i> 0 ,i< ;i--) 
   P r in t( i); 
 
Th e  a b ov e  e x a m p l e  w il l  in itia l iz e  th e  i to 15  a n d  sta r t th e  l oop , e v e r y  tim e  it d e c r e a se s i b y  
1 a n d  c h e c k  th e  te st e x p r e ssion  ( i> 0 ). 
Th e  p r og r a m  w il l  p r od u c e  th e se  r e su l ts: 15 ,14 ,13 ,12 ,11,10 ,9 ,8 ,7 ,6 ,5 ,4 ,3 ,2 ,1. 
 
M u l t i s t a t e m e n t  in  t h e  l o o p  b o d y : 
 
I n  ou r  p r e v iou s e x a m p l e s, w e  u se d  on l y  on e  sta te m e n t in  th e  b od y  of th e  l oop , th is is n ot 
a l w a y s th e  c a se . 
Y ou  c a n  u se  m u l ti sta te m e n ts in  th e  l oop  b od y  d e l im ite d  b y  b r a c e s l ik e  th is: 
 
for ( in t i=1;i< =15 ;i+ + ) 
{ 
   P r in t( i); 
   P l a y Sou n d ( " a l e r t.w a v " ); 
} 
 
I n  th e  a b ov e  c od e  th e  b od y  of th e  l oop  c on ta in s tw o sta te m e n ts, th e  p r og r a m  w il l  e x e c u te  
th e  fir st sta te m e n t th e n  th e  se c on d  on e  e v e r y  tim e  th e  l oop  e x e c u te d . 
D on ’ t for g e t to p u t a  se m ic ol on  a t th e  e n d  of e v e r y  sta te m e n t. 
 
T h e  B r e a k  S t a t e m e n t : 
 
W h e n  th e  k e y w or d  p r e se n ts in  th e  fo r  l oop  ( a n d  in  w h il e  l oop  a n d  s w it c h  sta te m e n t a s 
w e l l ) th e  e x e c u tion  of th e  l oop  w il l  te r m in a te  a n d  th e  c on tr ol  p a sse s to th e  sta te m e n t 
fol l ow e d  th e  l oop  se c tion . 
 
F or  e x a m p l e : 
 
for ( in t i=0 ;i< 15 ;i+ + ) 
{ 
  if( ( i==10 ) 
    b r e a k ; 
  P r in t( i); 
} 
 
Th e  a b ov e  e x a m p l e  w il l  e x e c u te  th e  l oop  u n til  i r e a c h e s 10 , in  th a t c a se  th e  b r e a k  k e y w or d  



w il l  te r m in a te  th e  l oop . Th e  c od e  w il l  p r od u c e  th e se  v a l u e s: 0 ,1,2 ,3 ,4 ,5 ,6 ,7 ,8 ,9 . 
 
T h e  C o n t in u e  S t a t e m e n t : 
 
Th e  b r e a k  sta te m e n t ta k e s y ou  ou t th e  l oop , w h il e  th e  c on tin u e  sta te m e n t w il l  g e t y ou  b a c k  
to th e  top  of th e  l oop  ( p a r e n th e se s). 
F or  e x a m p l e : 
 
for ( in t i=0 ;i< 15 ; i+ + ) 
{ 
   if( i==10 ) c on tin u e ; 
   P r in t( i) 
} 
 
Th e  a b ov e  e x a m p l e  w il l  e x e c u te  th e  l oop  u n til  i r e a c h e s 10 , in  th a t c a se  th e  c on tin u e  
k e y w or d  w il l  g e t th e  l oop  b a c k  to th e  top  of th e  l oop  w ith ou t p r in tin g  i th e  te n th  tim e . Th e  
c od e  w il l  p r od u c e  th e se  v a l u e s: 0 ,1,2 ,3 ,4 ,5 ,6 ,7 ,8 ,9 ,11,12 ,13 ,14 . 
 
L a t e s t  n o t e : 
 
Y ou  c a n  l e a v e  ou t som e  or  a l l  of th e  e x p r e ssion s in  fo r  l oop  if y ou  w a n t, for  e x a m p l e : 
fo r ( ; ; )   
Th is l oop  is l ik e  w h il e  l oop  w ith  a  te st e x p r e ssion  a l w a y s se t to tr u e . 
W e  w il l  in tr od u c e  th e  w h il e  l oop  to y ou  r ig h t n ow . 
 
 

 
T h e  w h i l e  Lo o p  
--------------------- 

 
Th e  fo r  l oop  u su a l l y  u se d  in  th e  c a se  y ou  k n ow  h ow  m a n y  tim e s th e  l oop  w il l  b e  e x e c u te d . 
W h a t h a p p e n  if y ou  d on ’ t k n ow  h ow  m a n y  tim e s y ou  w a n t to e x e c u te  th e  l oop ?  
Th is th e  w h il e  l oop  is for . 
 
Th e  w h il e  l oop  l ik e  th e  fo r  l oop  h a s a  Te st e x p r e ssion . B u t it h a sn ’ t I n itia l iz a tion  or  
I n c r e m e n t e x p r e ssion s. 
 
Th is is a n  e x a m p l e : 
 
in t i=0 ; 
w h il e ( i< 15 ) 
{ 
   P r in t( i); 
   i+ + ; 



} 
 
I n  th e  e x a m p l e  y ou  w il l  n otic e  th e  fol l ow in g s: 
 

• Th e  l oop  v a r ia b l e  h a d  d e c l a r e d  a n d  in itia l iz e d  b e for e  th e  l oop , y ou  c a n  n ot d e c l a r e  
or  in itia l iz e  it in sid e  th e  p a r e n th e se s of th e  w h il e  l oop  l ik e  th e  fo r  l oop . 

• Th e  i+ +  sta te m e n t h e r e  is n ot th e  in c r e m e n t e x p r e ssion  a s y ou  m a y  th in k , b u t th e  
b od y  of th e  l oop  m u st c on ta in  som e  sta te m e n t th a t c h a n g e s th e  l oop  v a r ia b l e , 
oth e r w ise  th e  l oop  w ou l d  n e v e r  e n d . 

 
H o w  t h e  a b o v e  e x a m p l e  d o e s  w o r k ?  
 
Th e  w h il e  sta te m e n t c on ta in s on l y  th e  Te st e x p r e ssion , a n d  it w il l  e x a m in e  it e v e r y  l oop , if 
it’ s tr u e  th e  l oop  w il l  c on tin u e , if it’ s fa l se  th e  l oop  w il l  e n d  a n d  th e  c on tr ol  p a sse s to th e  
sta te m e n t fol l ow e d  th e  l oop  se c tion . 
 
I n  th e  e x a m p l e  th e  l oop  w il l  e x e c u te  til l  i r e a c h e s 16  in  th is c a se  i< 15 = fa l s e  a n d  th e  l oop  
e n d s. 
 
 
F ig u r e  2  sh ow s a  fl ow  c h a r t of th e  w h il e  l oop . 
 

  
F ig u r e  2 - F l o w  c h a r t  o f t h e  w h il e  l o o p  

 
 
I  tol d  y ou  b e for e  th a t th e  w h il e  l oop  is l ik e  th e  fo r  l oop , th e se  a r e  th e  s im il a r  a s p e c t s : 
 

T e s t  
e x p r e s s io n  
 

E x it  

B o d y  o f l o o p  

F a l s e  

T r u e  



1. Y ou  c a n  u se  b r e a k  sta te m e n t a n d  c o n t in u e  in  b oth  of th e m . 
2 . Y ou  c a n  sin g l e  or  m u l ti sta te m e n ts in  th e  b od y  of th e  l oop  in  b oth  of th e m , in  th e  

c a se  of u sin g  m u l ti sta te m e n ts y ou  h a v e  to d e l im it th e m  b y  b r a c e s. 
3 . Th e  sim il a r  c op y  of fo r ( ; ; )  is w h il e ( t r u e )  

 
 
I  h op e  y ou  e n j oy e d  th e  l e sson . 
I  w e l c om e  v e r y  m u c h  th e  q u e stion s a n d  th e  su g g e stion s. 
 
Se e  y ou  
C o d e r s ’  G u r u  
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